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Z 'lt: lhe_ roots of the characteristic cquation of an RLO i
circuil are ~2 and ~3, the response is:
(@) (4 cos2t + B sin 2™
(b) (4 + 2B
() de™™ + Bra™™

(D de™ + B ™

where 4 and B are constants,

3 In a series RLC circuit, setting R = 0 will produce:
() an overdamped response
(b} a critically damped response A
(c) an underdamped response
{d) an undamped response
H
3

In an electric circuit, the dual of resistance is:
{a) conductance (b) inductance
(c) capacitance (&) open circuit

The voltage through a resistor with current i(7) in the
s-domain is SRI(s).

{a) True (by False

If the input to 2 linca; system is 5(:) and the fnl‘ltput 1S
e~ (), the transfer function of the system is:

! Ll g @—
@3 ®T3 e 2 s-2

7 | The impedance of a 10-F capacitor is:
@10/s  (bys/10 (c) 1/10s {d) 10s

8 F o W i 7uit is shévrl-ci.rcuitcd,
W f a two-port circ :
1 h_en4;;m;n1d<;?2 — (.25I,. Which of the following
1 = 4l 2
is true?
@y =4 by yiz = 16
(©)yy =16 (dyy»2 = 0.25
9

Atwo-port is described by the following equations:
v, = 501, + 0L,
vV, = 301, + 20L,

Which of the following is not true?

@)z = 10 (B) vi2 = —0.0143
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hich of the following 1%

|10 Tira two-port ix niiPmcaL whic
not true?
| - w = Y12
(a2 = Ty, (b) ¥ =
- BC+ |
(©) by = My (d "?_i__//”;"r \
aneilals t;’,"I/’J :
1 For the single-clement two-port network < 10 L2 :
Fig. 1.2y 18! <
@0  ®5 (c} 10 L
(d)20 Fig. 1
—
12 e 104
 For the single-clement two-port network in At
Fig. 2, by is:
@0 (-1 (c) 10
(d)20 ' - ORI
Fig.2
‘\
e A zero of the transfer function
: I0(s + 1y
His) = —* =
®) s+ 2)(5 + 3)
Is at
@0 ®-1 (-2 (-3 |
14 2 s
T 2(5)=1005" 94X+ 16) i8 2 valid drici .. “
s(s*+9) valid driving point Impedance of an LC network.
15 For a constant K-high pass filter having f=47 id _ :
SEries arm capacitance (C) and 5;1 ¢ Zand desigp impedance = (TT-section). the
unt arm Inductance (L) are given ag Ro=6000 (l-secton)
e
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gECTION-L: All compulsory 2 question from each Unit | 20
. — UNIT-I
’2/7 Obtain the incidence matrix of the graph shown in Fig. 25
1 2 @
y
’ B @
/ 3 Derive and explain the step response of RC circuit. 2.5 0
UNIT-II I
4 1 i 2.5 |
Determine i(¢) in the circuit of Fig. by means ISV S I
of the Laplace transform. l
ut) () j LF
L !
IH 1
S Discuss the concept of poles and zeros of network functions. | 25 |
UNIT-II |
2 2.5 g
Determine the = parameters for the circuit in Fig. 11
200 00 ,
O A — |
» L0
— — - _ v i 25
Determine the ¥ parameters 10r the two-port shown in Fig.
i
—
o VY
é ;
1
- o : L S
UNIT-1V
8 [ Explain the concept of Hurwitz Polynomials. 2.5
_ E Explain the concept of causality & stability in network synthasis. 23
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SECTION-] : mpt = |
ok et ¢ lollowmg, graph. |

I l cut-set ‘matrix for th \'

ncnlnl
Develop the S fundar

10
()

' ' ' circuit of Fig.
. Find v(®) for ¢ > 0 the RLC' circ
o0 04H T
54)13% 20#1:.[3
- 7 _ 7 UNIT-1I
12 — ;
The switch in Fig, moves ffom position | to ey L

position 2 at £ = 0. Find u(f), forall { > 0, '
| 7 +
12V iﬁ ] _
- 1 mF v
Z025H T_
= 1

13 Explain the various restrictions on pole and zero Locations for dri{/ing 10
| | point functions.

¥

: - UNITIT
14 Determine [y] and [T] of a two-port network whose = T / w___-—-.
I ;
i 6 4
[z] = :
i §4 6} N |

Evaluate V,/V, iy the crreuit in Fig

15
10

L
o

5Q

=120
I12=8§0Q
21=8¢Q
=200

I

16 / Design a Low Pass Fija ert
to hay;
In a 600Q resistance, in both ¢ a Cut-off 79
6
L 17 [ Define and explain positive real tl} hl;lond COH fgu rl;ltlowhen terminated
v ns Wlt ns,

va
rious p roperties. : .3

Scanned by CarﬁSCanner



